1£0€91.60 equnu ped

€0/8€- 10l L69 96C V1€

Vectra C Caravan

M10x150

M10x150

M10x165

I
L
| 10,5x30x3

%& 45x22

@118,5 |
| 1205 ﬁrm,s
———— T

|

M10

e

>

&—10,5x30x3

%ﬁ*Mm

&-10,5x30x3 |

—M10 |

@ |
<—10,5x30x3

&%ﬁ*Mm

M10x150
M10x150

M10x165

gL
|

@}:fﬁxzz

118,5
120,5

\%\ .
%*‘ﬁ

> 45x22

B /M%MQ

—913x24x2,5

_—

13x24x2,5

e
2
_—

°

2
/A |
»

)
\
A}

Kupplungskugel mit Halterung
Made in Germany KW/Jahr

Typ 314 296 | Klasse
e13 | 00-1539

D-Wert kN|D 10,7 Stiitzlast kg S 80

WESTFALIA-AUTOMOTIVE GmbH & Co. KG

M12x70

A50-X

Gen. Zei.




1£0€9160 Joaquinu Jed

(6x) 45x22

-
X

(2x) M12x70 (10.9)

(2x) M10x165 (8.8)

%%%@CD@‘

(4x) M10x150 (8.8)

\

(3x) 13x24x2,5

(6x) 10,5x30x3

(6x) M10 (8)
(2x) M12 (10)
(2x) 118,5
(2x) 120,5

(2x) 133,5

Q%@@@@@




part number: 09163031

H

N
/ [ e
=
g
NO
> =
o4
z 8 N
N~
S 80
S 1|
O | €

'
e1300-1539

@
J

B

ﬁ%%/




part number: 09163031

40 Nm
95 Nm

(8.8)
(10.9)

M10
M12




1£0€9160 dquinu ued










-

B

10

I

/

~&

f

s
=
=

U
O

ey

10,5x30x3

% \

—

0,5x30x3
M1

1

(&)

Xy
A ¢

| 5
M10 > 40Nm (&

M10§(

\

12

M12

1

3P

,, i
M12 - 95Nm (¢

(=}]

part number: 09163031







